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PbA PbB HAOEE W = 540 kg
Y Y EINETS hG= 40.0cm
hG - RILER/RY  (RiB) LA= 66.0cm
(5530) LB= 318cm
RILEDDS LGA= 33.0cm
v e BELFTOHER LGB= 159 cm
“l “ an RILRG AR M10
WV RILEER n= 4 K
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BEERTRIZESE. hEFRHBICHTIHERLZR
RETRIZEEE KS 1.0 15 2.0
Hhig (% 5k z 1.0 1.0 1.0
REtHEKEEE KH=KSxZ 1.0 15 2.0
RETRKEHE S FH=KHxW x9.8| 529.2 N 793.8 N 1058.4 N
REtHSEERD FV=FH/2 264.6 N 396.9 N 529.2 N
Toh—RILEBIER B RILER /R KIBAIRbA)
b = FH xhG + (W x9.8+ FV)x(L-LG) 358.8 N 472.1 N 585.3 N
L x nt IV R/ 5538 48I(RbB)
*L:LAXIZLB, LG:LGAE1=IZLGB. nt=n/2 531.3 N 730.8 N 930.3 N
Toh—mRILNEAMIGHE
c=rH AL 240.5 N/cm?|  360.8 Niem?|  481.1 N/cm?
n-A A=055 cm?
B7oh—OEMHERSIRHFEICHTIREE
CHIERBIERTVH—HRILN(ERLR)
& RILRT > o 72 1% 52 & 4.1 1%
EEAEFAEIRTrE: 3.8 kN
ERILFOEMRHEBREAWIEHEICHTIREE
RJLE(SS400)
42.0 f& 28.0 1% 21.0 1%
SEA R AW SE 101 kN/om®
AT L RRILE(A2-50)
ki 37.0 f& 253 f& 19.0 f&
SEEASE R AMIS B 9.12 kKN/cm?
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